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1. Give the complete or full name in English for cach of the following
chemical elements or compounds: { 30 % )
(1) He ()N 3S (4)P (5)Si (6) Mg
(7Y Fe ®Zn (HHz (10)Th (11)Ar (12) HNOs
(13) CaCOs (14) FeCl; (15) NH,OH

2. Explain the following terros concisely: { 30 %)
(I polymer  (2) carbohydrates (3) Avogadro’s number
(4) nuclear fusion (5)pH {6)isotopes (7) enthalpy of reaction
(8) precision and accuracy (9) Henry’s law  (10) stoichiometry

3. What is the specific heat capacity of a substance? What is its molar

heat capacity? ( 10 %)

4. A piece of pure limestons is subject to reaction with sufficient
hydrochloric acid to produce carbon dioxide and other products.
Write down the reaction formula with phasss indicated, and find out
how much carbon dioxide is produced in mole and volume at STP
( assuming it is an ideal gas )} if the limestone weighs 15g . ( atomic

weight: calcium 40; carbon 12; oxygen 16 ) (10 %)

5. What are the characteristics of radioactive decay of an isotope?

What are their applications for geosciences? ( 20 %)
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1. Please write short answers and draw diagrams if you can, to explain the
| following terminologies:  (50%)
1 (1). Kuroshio

| (2). Ekman spiral

i (3). carbon cycle

; (4). biological pump

i (5). photic zone

| (6). collision margin

| (7). eutrophication

} (8). Redfield ratio

, (9). lithogenic sediment
| (10). EI Nino
| :

|

|

+

2. Please describe the major features on the global ocean floor and their .
| " téctonic implications. Pléase draw a dlagram to explain your answers.
| | (15%)

| 3. What will happen if the wind is blowing a) along the coast, b) toward the

}- coast, and C)'away from the coast, for an extended period of time? Please

;, draw diagrams to explain your answers, and specifically, please indicate the

}' : sea-surface gradient, the directions of the wind, and the directions of wind-
driven currents? (15%)

| 4. What is the greenhouse effect, and how does it affect the global
environment, and particularly, how does it affect oceans and coastal seas?

: (10%)

5. What are the impacts of typhoons on the coastal and nearshore
environments around Taiwan? (10%)
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